AP Calculus

4.6 Optimization Problems

1. A manufacturer wants to design an open box having a square base and a surface area of 108
square inches. What dimensions will produce the maximum volume?
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2. Arectangularpageisto ontaid 24 square inches of print} The margins at the top and bottom of
the pa The margins onM What should the dimensions
of the page be so that the least amount of paper is used?
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4. Find the points on the parabola, y = 6 — x? that are closest to the point (0,3)



5. Four feet of wire is to be used to form a square and a circle. How much of the wire should be
used for the square and how much should be used for the circle to enclose the minimum total
area?



